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B. Com Sem-4 Assignment (Academic Year: 2023-24)
Subject: Cost Accounting-II (English Medium)

[1]Arihant Ltd. has produced and sold 1,000 units at 50% capacity during the year 2015. The
costing details are as under:

Particulars Rs.

Materials 5,00,000
Direct wages 3,00,000
Direct expenses 1,00,000
Factory overheads (50% variable) 2,00,000
Office overheads (fixed) 1,50,000
Selling — distribution overheads (40% Variable) 1,00,000
Sales 16,20,000

Estimate for the year 2016 are as under:

(1) Output will be at its full production capacity, of which 80% units will be sold.
(2) Cost of raw materials and wages per unit will increase by 20% and 10% respectively.
(3) Fixed expense will increase as under: Rs.

Factory 50,000
Office 40,000
Selling — Distribution 20,000

(4) Variable selling expenses will increase by 25% per unit.
(5) Profit on cost will remain unchanged.
Prepare a current year Cost sheet and a Tender Cost sheet for the year 2016.

Q.2 Utsav Limited sold all its production for Rs. 7,20,000 during the year 2015. The cost per u
nit of the company for the first year was as under:

Particulars Rs.
Materials 60
Wages 50
Direct expenses 10
Factory Overheads: Fixed 8
Variable 7
Office Overheads: Fixed 15
Sales Overheads: Fixed 7
Variable 8
165
+Profit 15
Sales 180

Out of Total production capacity, 80% of production was done in 2015.
(1) During the first half of next year the production will be at 80% capacity and for the
later half of next year production will be at 100% capacity.

(2) There will be 10% increase in all variable expenses and 20% increase in all fixed
expenses.

Prepare a Tender Cost Sheet estimating 33 1/3% profit on sales price.




The following is the Trading and P & L A/c of Naval Ltd. for the year ending on 31-3-

2016.
Dr. Cr.
: Particulars - " Rs. ' Particulars "~ Rs.
To Materials 7,00,000 | By Sales (2,000 units) 16,26,000
" Direct labour 4,80,000 | " Finished goods 2,74,000
(500 units)
" Factory overheads 2,20,000 | " Work in progress :
" Gross Profit 6,00,000 | Materials 50,000
Labour 20,000
Factory
overheads 30,000 1,00,000
20,00,000 20,00,000
To Administrative By Gross Profit 6,00,000
overheads 1,40,000 | " Brokerage 40,000
" Sales — Distribution " Profit on sale of Investments
Overheads 30,000 10,000
" Goodwill written off 8,000
" Deb. interest paid 22,000
" Net profit 4,50,000
6,50,000 6,50,000

The following information has been obtained by investigating the cost records:

(1) Material and wages are charged at actual cost.

(2) Factory expenses have been allocated to the production at 50% of direct wages.
(3) Administrative expenses have been charged at 10% of factory cost.

(4) Sales — distribution expenses have been charged at Rs. 10 per unit on units sold.

From the above information:

(i) Prepare the Cost Sheet showing profit/loss.

(ii) Prepare the statement reconciling the profits as per Cost Sheet and profits as per Profit
& Loss Alc. ‘

(A)  State the reasons for disagreements in the profit as shown by Cost
Accounts and Financial Accounts.
B) Financial accounts of Farhan Ltd. reveal —

Rs.
Office Overheads 1,65,000
Selling overheads 72,000
Net Profit 80,000

Officeoverheads in Financial Accounts are 10% higher in comparison of Cost Accounts
and selling overheads are 10% lower.

What will be the profit as per Cost Accounts?

(C)  How are Finished Stock and work in progress valued in Cost Accounts and Financial
Accounts.

Aran Transport Company supplies the following information in respect of a truck of 5
tone capacity:

Cost of Truck Rs. 20,00,000
Life of Truck 10 Year
Scrap value 10%

s,

Diesel oil etc. Rs. 1,200 per trip each way. P ERNHE,




Repairs & Maintenance Rs. 5,000 p.m.

Salary: Driver Rs. 20,000 p.m.
Cleaner Rs. 8,000 p.m.
Insurance ~ Rs. 1,00,000 p.a.
Taxes ' Rs. 50,000p.a.
Sundry expenses Rs. 18,000 p.a.

The Truck carries goods to and from a city covering a distance of 150 kms. each way,
Daily 2 round trips are taken and the truck runs 26 days a month. Freight is available to the extent
of full capacity on outward trip and to the extent of 60% capacity on return trip.

Calculate the operating cost per tonne km.

(A) Write a short note on : Hotel Costing.

(B) No. of Vehicles Specifications
40 5 tonnes
50 6 tonnes
60 7 tonnes

On an average each truck makes 5 trips in a day. Each trip covers a distance of 10 kms.
Each truck carries weight which is only 70% of the capacity. On an average 20% truck are laid
up for repairs every day.

Calculate the tonne km. per month for the month of April, 2016.
(C)  State the unit of .cost for —

(1) Adani Gas Company

(2) May Flower Hospital

(3) Adlabs Theatre

Vivek Thakker of Thakker Construction Company took a contract worth Rs. 10,00,000
on 1-1-2015. From the following information, calculate the cost of work uncertified.
Also calculate the profit to be transferred to profit & Loss A/c on 2/3" Profit basis by
preparing Contract Account:

Particular Rs.

Materials issued 2,42,000
Material transferred from other contract 50,000
Plant issued (1-1-2015) 60,000
Wages paid 1,60,000
Other expenses 1,40,000
Cost of sub — contract 40,000
Cash received (75% of work certified)- 6,00,000
Material destroyed due to an accident 2,000
Material returned to stores 2,000
Material at site (31-12-2015) 10,000

Total work completed on 31-12-2015 was 90% of contract price. Depreciation on plant
to be charged at 20% p.a. on reducing balance method.




(A) Following information regarding Job No. 2530 is obtained from the cost records of
a company:

(1)Cost of materials  Rs. 5,000
(2)Cost of wages (per hour):

Dept. A Rs. 2 (150 hours)

Dept. B Rs. 3 (90 hours)

Dept. C Rs. 4 (60 hours)

Dept. D Rs. 5 (30 hours)

(3) Variable expenses of four departments are categorized as under:
Particulars A B C D
Rs. Rs. Rs. Rs.

Factory expenses 24,000 20,000 [ 12,000 1,600
Office expenses 24,000 16,000 8,000 800
Sales expenses 12,000 9,000 4,000 600

(4)Labour hours for these four departments are as under:

A —5,000 hours
B — 4,500 hours
C —3,000 hours
D —500 hours

(5)Fixed Expanses are Rs. 85,000 for 17,000hours.

(6)Calculate the selling price of Job No. 2530 to earn 50% profit on sales price.
(B)  State the advaﬁtage of Job costing. |
(C)  Write a note on "Escalation Clause".

Choose the correct option from the given options.
(Show necessary calculation wherever required) (any seven):
(1) Which of the following expense will be considered as a fixed cost from the view
point of a Transport company?
(A)Diesel
(B) depreciation
(C) Garage rent
(D) All of the above
(2) Cost as per passenger km. is Re. 0.50 paisa. Distance between two cities is 100 kms.
expected profit is 50% on fare. What will be the one way bus fare?
(A)Rs. 100
(B)Rs. 45
(C)Rs. 50
(D)Rs. 150
(3) Cost of sales is Rs. 3,60,000. Profit earned is Rs. 40,000. The percentage of profit
on sales is —
(A)10%
(B)20%
(©)11%
(D)12%

(4) Carriage outward is a —
(A)Purchase overhead
(B) Factory overhead




(C) Office overhead
(D) Selling overhead
(5) Prime cost is Rs. 25,000 Factory overheads, office overheads and selling overheads
are 20%, 15% and 10% of Prime Cost. If profit of 5% on total cost is to be earned,
the selling Price of the product will be —
(A)Rs. 36,250
(B)Rs. 33,750
(C)Rs. 38,062.50
(D)Rs. 40,000
(6) Profit as per Cost Accounts is Rs. 50,000 Goodwill written off is Rs. 5,000 Rent
received is Rs. 5,000. The profit as per Financial Accounts will be —
(A)Rs. 55,000
(B)Rs. 60,000
(C)Rs. 50,000
(D)Rs. 55,000
(E) Rs. 40,000
(7) Due to under recovery of overheads in Cost Accounts, the profit of the Cost
Accounts —
(A)Increases
(B) Decreases
(C) Remains constant
(D)Decreases by double the amount of under recovery
(8) Time Limit for every job is —
(A)Monthly
(B) Annual
(C) Different
(D)Bi — annual
(9) Work in Progress Account in Contract Account includes —
(A) Work certified + Work uncertified
(B) Closing balance of plant
(C) Closing balance of material
(D) All of the above
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Subject: Production Management (Both Medium)

Q-1)  What do you mean by Scientific Purchasing? Discuss the various problems (principles) of
Scientific Purchasing/ 5 R’s of Scientific Purchasing.

dsils wilel Aled 92 dsills wWlEltl usl (Rtaicl)/ 5 Rosoll uAl 52,
Q-2) Difference between Centralized and De-Centralized Purchasing.
Slonct A (AR WILELA gttt UM,
Q-3)  Discuss in brief “ABC”, “VED” & “FSN” methods of Inventory Control.
Qo3| vigalell “ABC”, “VED” 3ol “FSN” Ut gsHi AL,
Q-4)  Explain the Scope of Production Management.
GeUlEat AALAot] 5118 UMt
Q-5)  Explain the difference bétween Production Planning and Production Control.
GeUlEot Aol WA BeUlEal B2l Aol dAglald AHwCl.
Q-6)  Explain the process of New Product Development with example.

ol Vetel @siaell uBau GeleWL WA AMA

Q-7) Difference between: Job Production and Batch Production.
dstadd: Bl GallEot Al AU BeulEat.

Q-8)  Explain the following Purchasing Methods:

1) Contract Purchasing, 2) Blanket Purchasing, 3) Hand to Mouth Purchasing
4) Speculative Purchasing, 5) Planned Purchasing

ol Aol wWile utalfQull UHesAl:
1) $2AR gl WILEL 2) Ayl WRlEL, 3)cclRct WilEL
4) Yealets WILEL 5) w0(Rd WIlEl
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1. Define the derivation of a function .
2. State the rule of differentiation.

3. Using the definition of derivative, find the derivation of f(x) = vx QA% f(x) =1/ x-
4. Find the derivation with respect to x.

A) x11 log x

B) e*x®

SIf f(x) = x2 + 5x + 5 and f(x) = f'(x), then find x.

6 Explain the concept of elasticity of demand. Give different formulas for obtaining it.

. 7y
7If y = xe* ,Then prove that e

2dy
dx

+y=0.

2
.8If the cost function for producing x units is C = Z—S — 6x + 100, then prove that the cost is

minimum when 75units are produced.

.9The demand function and cost function of a monopolist are p — 15 =x and C=03+30.x

respectively. Find the profit function. Also find the price and quantity for maximum profit.
What will be the profit when i) The production is of

7 units and ii) the price is rs. 5?

.10 Find the minimum and maximum value of f(x) = §x3 +x% —12x + 5.

11. Explain time reversal tests and factor reversal tests.

12. Verify both the tests for Fishers and Marshall Edgeworth index numbers.

13. Find index number using family budget method and total expenditure method.

Items Quantity Unit Price
Base year Current year
& 150 (3,010, 100 (.91, 120 150
B 100 (3.01L. 100 (.01, 80 120
c 10 (.91 100 (3.91L. 100 130
D 50 (5.9 100 (3.00. 150 180
E 25 (3.01. 100 (3.01. 45 54

14. Find Index number for food articles. If the prices of clothes, rent , fuel, and misc. becomes

8,12,9 and 6 times in the year 2010 compare to year 2005 and the family spends 25%, 20%,
10%, and 5% of total expense on these items then find cost of living index number.

Items Quantity(2005) Price(2010) Price(2010)
Wheat 5 15 18
Rice 3 20 30
Bajara 10 12 15
Tuver dal 2 15 21
Sugar 3 40 50




15. Obtain all 5 index number for the following data and apply both test on it. Which index
number is ideal from the test? Why?

Items Price(In Rs.) Quantity(in kg.)
‘ 2000 2017 ~ 2000 2017
P 8 8 10 8
Q 10 12 20 20
R 24 38 30 40
S 35 50 15 12
T 30 60 12 10
U 14 14 5 8
\Y 16 24 20 15

16. What is time series? What is meant by analysis of time series? Discuss the various
component of time series.

17. What is trend? Discuss different methods of finding trend.

18. Obtain trend by taking five yearly moving averages from the data and also obtain short
term fluctuations, and represent them graphically.

Year | 2000 | 2001 | 2002 | 2003 | 2004 | 2005 | 2006 | 2007 | 2008 | 2009 | 2010 | 2011
Index | 110 | 115 | 100 |90 80 95 85 75 60 65 70 55
no.

19. Find trend and short term fluctuations by taking four year moving average.

Year | 1991 | 1992 [1993 |1994 | 1995 | 1996 |1997 [1998 | 1999 |2000
Prod. | 170 172 175 180 175 178 180 185 174 178

20. Find seasonal variation, irregular variation and seasonal indices from the following data.

yea season Winter Summer Monsoon

2005 35 30 20
2006 50 44 35
2007 60 55 48

21.If f(x) = 2x% + 2 and f(x) = f'(x), then find x.
22. Find the minimum and maximum value of f(x) = x® + x? — 5x + 7.
23. Discuss the points to be considered fir constructing wholesale price index number.

24. Write short note on Utility of study of time series.
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oll ereall AsH 5 AsH Sl RUR Aol clrdoll el 7

Sl R otgl .
10f () = 223 + 22 = 12x + 5 ol HecH sl g Budl AaA.
A1 @Qualy A ue [Quaiy udlael Aed g.auHedl ?
12(52R wal Higlet Awaddotl YUs Wisl ol Ul W2 WL,

A3o{lAe{l HlEAl uRell 51¢(As viwe ual e WAL ol utuld &l Yyus wis .

cd 29| AsH alla (3 M)

AR o Al ad
A 150 (5.91L. 100 (.10 120 150
B 100 (5.9, 100 (%.00. 80 120
C 10 (5.0 100 (5.91L. 100 130
D 50 (3.9 100 (5.91L. 150 180
E 25 (%.00. 100 ($.00L. 45 54




14. 2col [Aclle ol Yus uis Ancal 12 Wil VRSl ol W «{Ae{l [Qotdl URel
Bt WIRLSL ol Yus uls Aol xal ot [Adle ol yus uis Aadl.

el 22l (2005) el (2010) el (2010)
uG 5 15 18
ALl 3 20 30
ol 10 12 15
daAR eln 2 15 21
WiS 3 40 50

15. o{lAoll WA uRell 5 Yus 28 AAcll wal olal Ul of ulaal sA .
UIletall VRl s YUs vis UE sdaA? Wl HER?

dd, el 28l

2000 2017 2000 2017
P 8 8 10 8
Q 10 12 20 20
R 24 38 30 40
s 35 50 15 12
T 30 60 12 10
U 14 14 5 8
Y% 16 24 20 15

16. WHRSs AN AeA 2?7 Aof YaussWL N2 9?7 UHRS Al oll el el uesl ofl uAl

53

17. detgl AeA 22 A Auclefl %el %l Al aglal.

18. Wi cdofl AslR ARRAA A (Aol WHRS QM of cdctll AN wa wcusicllat cauue
YeL Al Aol dAMal WA giL g2l

ad | 200 | 200 |200 |200 |200 |200 |200 |200 |200 |200 |201 |20f
0 1 2 3 4 5 6 7 8 9 0 1

YA | 1Mo | 115 | 100 | 90 | 80 | 95 | 85 | 75 | 60 | 65 | 70 | 55

5

uis

19. AR AN ofl URAA U2AA A cctl ANl Al Aeusicllet auee 0.

Year | 1991 [1992 |1993 [1994 |1995 |1996 |1997 [1998 |1999 | 2000

Prod. |170 |172 |175 |180 |175 |178 |180 |185 |174 |178




20. Find seasonal variation, irregular variation and seasonal indices from the following data.

E{w Qaual e AR

2005 35 ' 30 ' 20
2006 50 44 35
2007 60 55 48

21. %l f(x) = 2x% 42 &l Aol f(x) = f'(x) ARl dl x
22. f(x) = x3 + x2 — 5x + 7 oll HecH WA Ayl (BHA Al
23. ool el ofl YUS s dAR scll M@ taulel Ul Aclcl Y&l ol uAl 5:.

244 HRSs A ol Gulollcl (AN 25 ol AWl




SHRI K.K SHASTRI GOVERNMENT COMMERCE COLLEGE
MANINAGAR, AHMEDABAD

B. Com Sem-4 Assignment (Academic Year: 2023-24)
’ Subject: Auditing-1 (Gujarati Medium)

1. What is auditing? Explain the advantages and disadvantages of auditing.

2. Explain different types of Audits and distinguish between Continuous Audit and Annual
Audit.

3. Write in detail about the Misappropriation of Goods

4. State various techniques of cash defalcation and explain any two of them.

5. Which points are to be considered by an auditor at the time of “Commencement of New
Audit”?

State qualifications and disqualifications of an auditor as per Companies Act, 2013.

6

7. Write a Short Note on the Lien of an auditor

8. Write a Short Note on the Duties of an auditor.
9

What is vouching? Explain points to be considered by an auditor while vouching.
10. How will you verify the following?
A. Secured loan
B. Goodwill
C. Contingent liability

1. BlBRoL AeA 9?7 AUWBRoell slauel dau Haleloll uul 5A?
2. AResll el el uslR Ul A 232 wa cllds 232 Al dsteld
oLl
Hidtoll GuUA 213 (AQotdalr ¢l
Ass GAUdell QAU uglal saual dat a sl sl ugl A ofl Al 2.
olq B2 AR scll cnd B2 sall Yol tauletHl Amall K SA?
$uefl tiRl, 2013 Yosol B326ll clasidl U ARcUsLAL SR,
AU 32 [AQast ([AAM 85) UR &5 olld AW,
AlB220ll 5981 UR &5 ol .
. BRI WA 9?7 BRI sl cntd A (32 taulotHl Avclloll YERAL QU
10. o{lAe{l [QotAlell usupll 3l A 52907
A. dReletdl At
B. wusl
C. vl tau




SHRI K.K SHASTRI GOVERNMENT COMMERCE COLLEGE
MANINAGAR, AHMEDABAD

B. Com Sem-4 Assignment (Academic Year: 2023-24)
~ Subject: Economics (Both Medium)
= UsH : 1 WAR QLB,'ﬂE—L AuURell @tuicll : Unit : 1 - International Trade Theories :

1) vidRAE A AwRell U L. AicdAE2A AU AAR 5l URBotle(l Al 53

e Give the meaning of International Trade and Discuss its Factor affecting International
Trade.

2) 3[@As Rsislell detotleds (Ul WA cletoll Rtdic Gelsalell Heel unsAl.

¢ Describe the David Ricardo’s Theory of Comparative Cost Advantages with
the help of Example.

3) wicRAFL AURA 35u2 - A s(Aetall ULt URHIGLA Rtuid Gelealell Hee
TRICT R

¢ Explain the Heckscher - Ohlin Theory of International Trade Factor Endowment with
the help of Example.

= AsH : 2 AURell 22A -Unit: 2 - Terms of Trade :
1) QuRe(l 2R Alell el AUl AURel 2R AR AUUR 5l UWRB Al w2l 83

¢ Give the meaning of Terms of Trade and Discuss its Factors affecting the
Terms of Trade.

2) AuRe{l AR clell YsIRA / vl (AN ol Avll.
e Write a note on Types / Concept of Terms of Trade.
3) Aetell wRruRs Hidlell Rtuid GelsWlell Heeel UHm Al

o Explain the Mill’s theory of reciprocal demand with the help of Example.

= AsH : 3 AUR (AN U (QARAH2A €3\ : - Unit : 3 - Trade Policy and
Exchange Rates :

1) Ysct AWRAA A AUl Y5 AuRAl[All d3uL (st21el) ua [Qtusll (Al25L2UEL)
ecllcdlo(l uul s

e Give the meaning of Free Trade Policy and Discuss its Arguments of Favor
(Advantages) and Against (Disadvantages) of Free Trade Policy.

2) Yol deHl sl Hdletl Redid Yool [QlAHa €2 Auielell uBal Gelswlell
Heeell unsal.

¢ Exchange rate Determination Under Gold Standard as per Mint Parity Theory.
3) @AM €2 Auizgell uH WIlE ABdal Rl uxstAl.

¢ Explain the Purchasing Power Parity Theory of Exchange rate.

> AsH : 4 WidRRA|2U YU : - Unit : 4 - International Institution :
1) Ui el eislaell sl Yealiset s2A. (Rl vl HaAlellell wUL 53N)

e Evaluate the Performances of International Monetary Fund (IMF) - (Achievements and
Limitations)

2) (@A Aosoll uel - 3l - stalell Al s2A,

¢ Discuss the World Bank (IBRD) Concept - Objectives - Management and
Functions.

3) [@Qa AUR Udlsetall dcull - stal - ual cacRald{a Hnul @Y olu cul.




e Write a note on Objectives - Functions and Organizational Structure of World Trade
Organization.

4) GATT and ADB (A olltl cull.
e . Write a note on GATT And ADB.




SHRI K.K SHASTRI GOVERNMENT COMMERCE COLLEGE
MANINAGAR, AHMEDABAD

B. Com Sem-4 Assignment (Academic Year: 2023-24)
' Subject: Taxation (English Medium)
NOTE ; ALL QUESTIONS ARE COMPULSORY.

Q.1 Hiral has purchased a residential house for Rs.18,59,980 during the year 2005-06. She had
also paid Rs.3,52,557 as additional construction expenses during the year 2008-09. On 7-7-2022,
she sold the above house for Rs.73,35,031 and paid Rs. 80,000 as brokerage. On 1-1-2023, she

purchased another house for Rs.12,00,000. Relevant cost inflation numbers are as under:

P.Y.2005-06: 113
P.Y.2008-09: 129
P.Y.2022-23: 317

Find out the tax free capital gain according to Sec.54 for the A.Y.2023-24.

Q.2 Calculate taxable income under the head Income from other sources for the A.Y. 2023-24.

1 Interest received Rs.9900 on less tax debentures of ‘A Co.” (TDS 10%)

2 Interest (Gross) on bank deposit Rs. 17,000.

3 dividends on 10% Preference share of ‘A Ltd.” Rs. 15,000.
4 Net Income from horse race is Rs. 11,200 (TDS 30%)

Q.3 Discuss the provisions of Section 80 G in regard to deduction for donations.

Q.4 State in detail the provisions of Income tax act regarding to set off and carry forward of

losses.

Q.5 Explain concept of GST and explain its advantages and disadvantages.

Q.6 Discuss 80 C and 80 D.

Q.7 Explain Input Tax Credit.

Q.8 Following is the information related to Receipts and Payments of Dr.Ram for the year ended

on 31-3-2023.
Receipts Rs. Payments Rs.
Visit fees 4,80,000 Rent of dispensary 2,16,000
Consultation fees 4,50,000 Staff salary 2,70,000
Sale of medicines 90,000 Rent of consulting room 72,000
Rent income of operation Electricity 45,000
theatre 2,40,000 Medical journal 15,000
Dividend 42,000 Purchase  of  surgical
Interest on Treasury Saving instruments 60,000
Certificate 15,000 Diwali expenses 30,000
Gift from patients 1,00,000 Purchase of medicines 60,000
Sale of surgical instruments 28,000 Motor car expenses 1,08,000
Audit fees 6,000
Association fees 1,800
Balance c/d 5,61,200
14,45,000 14,45,000

Additional Informations:

1) Half of the motor car is for personal use.
2) Total depreciation on car is Rs.24,000.

3) Opening and closing stock of medicine were Rs.32,000 and Rs.12,000 respectively.




4) Depreciation on surgical instruments is @20%. Opening balance of surgical
instruments was Rs.48,000.
5) Rs.20,000 of gift received from patients has not been recorded in the books.

From the above informations, prepare statement showing taxable income from profession of
Dr.Ram for the A.Y.2023-24.




SHRI K.K SHASTRI GOVERNMENT COMMERCE COLLEGE
MANINAGAR, AHMEDABAD

B. Com Sem-4 Assignment (Academic Year: 2023-24)
' Subject: Taxation (Gujarati Medium)
Y4 (@A ad 200u-05 €R2uot E6WRLe HSlal 3. 1¢,UE,cCOHL Wiy, ad R00¢-0¢
gl AHL Aol oliusid WAL 3 3,UR,UUY Ysel. dl.Y-9-02 ol A% d Uslol 3
93,34,03 1 Hl A2, wa A ¥ 3 ¢0,000 ofl ecllcll Ysell. cll. 1-1-2023 il A% el Uslol
3 12,00,000 Ml W3lte), Yusuis o[l A yxol B,
200U-0S : 143

R00¢-0¢ : 1R¢E
R0R2-33 : 319
SAM U¥ Yool l.cl. 20R3-Y M2 st YSlatgl .

Y.2 l.cl. R023-¥ HIZ ‘U Ultallell vuas’all AlNls ds01 sUA vllas K.

q 2 51U{lotl 5ReilE SlOlA UR HAE Ul 3.¢¢00 (TDSA0%)

2 ols SIBe of cales (ANU) 3 19,000.

3 0% oll 3l (A, s1uslotl YgeA AA UR HAA Sl[ASes 3.44,000.

¥ ASELS ofl a2 s 3.49,200. (TDS30%).

Y.3 scAH ¢0(G) oll elot el suUlc idNell sl w2l 53

Y ¥ ajslel HiSl aloell i3l wal vt WAl esall 23\ uelsARL{ sloteles s Ul
Y U HIA Bel Acll 50l vALA UHAl dl Aol SIAEL Wl AR SLAEIRA RUA.

Yy s ¢o Al v ¢o Sl unesal

Y9 gelye A qHxal.
Y-¢ SL.RAM ol cll.31-3-023 oll A% YA Ucl adlell was wal xtas ofl WRA (A

Yool B,
UldS 3. Alcls 3.
Qe sl ¥,0,000 | EclWloll) LY ?,15,000
suR At 8l ¥,40,000 @Sl UolR 2,390,000
g clillog AALRL ¢0,000 | 5UGEL 3H of ey 92,000
U2t QAz2all eltstell 2utes | 2,%¥0,000 flosoll wal ¥4,000
B@ss ¥2,000 | El5c3l Yreisl 14,000
231 Alcloos wdlgl¥eqy cauley U,000 | cll@siUsil Aol | 50,000
g €A Wl HAA de 1,00,000 | wilel 30,000
clasiUell Altdolley AUGL 2¢,000 | €latoll wilel $0,000




gcllo(l WilEl 4,0¢,000

Hle? Wl 5,000
Ale gl . 1,£00
AN RAAA $l U,5%,200

ollsl UL | dLaL

1¥,%¥4,000 1¥,%¥4,000

capee(l 1Bl

q) H2Rall 1/ GullaL Bidlcd & M2 B.

) Hl2R51Rell ¢ Ml YURL cll@ls 3.2%,000 B.

3) eclloll 2A3Vtcdoll Wal VWA RS ojsA 3.32,000 U 3.42,000 8.

¥) cllasiUoll ALl UR YUURL 0%, cllasiUsll Altalloll 2A3e{l uan olte BHd 3.¥¢,000
8.

W) e€RA WA HAA A2ell 3.20,000 AUS gl o2l

GUAS HURAl uRell 2usRQl cd 2023 -y IR SL AM ofl suAA s eqldd UAS
daR s2A.




SHRI K.K SHASTRI GOVERNMENT COMMERCE COLLEGE
MANINAGAR, AHMEDABAD

B. Com Sem-4 Assignment (Academic Year: 2023-24)

Subject: Communication (Both Medium)
Q.1 Write a detailed note of the following topics.

1.The three questions and their answers by the Learned man.

2 The Character of Rani Laxmibai as described in the story.

3. Subhash Chandra Bose's address to the soldiers.

Q.2 Write a letter to MNC to setup Children Park.

Q.3 Write a letter to a private University to a sponsor the seminar for awareness of RTT Act.

Q.4 Write a letter to an agent, offering terms and conditions for an agency of an electronic product.

Q.5 Write a letter from the principal to an agent offering terms and conditions for the agency.




